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Question Number : 1 Question Id : 544734161 Display Question Number : Yes Is Question
Mandatory : No

The real valued function f(x) = ; :_1 + % +1 defined on R \ {0} is
R\ {0} © 6o TS 2070 HAAW Flx)= e’*:——l + % +1, a8
Options:
An odd function
% £30 0RAW

An even function

5 o D0 DAL

Both even & odd function
8 20805 85 HIAHAW

Neither even nor odd function
20 57 B3 &3 Qﬁ)od:)mj S°GD

Question Number : 2 Question Id : 544734162 Display Question Number : Yes Is Question
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. . 1 : . . :
The domain of the function f(x) = [x]_—l . where [x] is greatest integer function of x is

[x] €36 x G, 7Tos o) Ay , f(x) = —— e HHavin dng, 5B

[x]-1
Options:
1. 8 it~ (1: 2)
2 ® R — {1}
.« R—{0,1}
4. R — [11 2)

Question Number : 3 Question Id : 544734163 Display Question Number : Yes Is Question

Mandatory : No

X

: g -
Let f:R - R be a function defined by f(x) = roay

.what 1s the value of f (%) + 2f (%) +f (%) =7

X

R+ R e 508r9) f(1) =

a1 (2) (2w

Options:
-+

1.8
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Question Number : 4 Question Id : 544734164 Display Question Number : Yes Is Question

Mandatory : No

For what natural numbers n € N, the inequality 2" > n + 1 is valid?

2" S n 4 1 0HDE6RB30 DRAD SIS DR Ro®| 1 Golh DBZW?

Options:

ZVVREZ

Vis=n<3

4% VnEN—{23}

Question Number : 5 Question Id : 544734165 Display Question Number : Yes Is Question
Mandatory : No

b+c a a
The valueof| b c+ a b 18
C C a+b
b+ c a a
b c+a b [JTosy DD VA7
f C a+b
Options:
1 % abc

> » (@a+b)(b+c)ct+a)

3 4 abc
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4 % (@=Db)(b—c)(c—a)

Question Number : 6 Question Id : 544734166 Display Question Number : Yes Is Question
Mandatory : No

Let A, B, C, D be square real matrices such that C" = DAB,D" = ABC,S = ABCD then $* is
equal fo

AB,C,D en 93 ooy argsen C' = DAB,D' = ABC, S = ABCD exabitstod), S &
DATRAOVRNG

Options:
1.% S

, % BCD

3% S

v 60 =)

Question Number : 7 Question Id : 544734167 Display Question Number : Yes Is Question
Mandatory : No
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@ 15 31) o & 0§
A=112 b* 41|andB=|2 2b 8 |aretwomatrices such that the sum of the
R 1 4 2-3

principal diagonal elements of both A and B are equal, then the product of the principal
diagonal elements of B 15

.,

o 15 31 (20 3 5
A=]12 b2 41| 20c0B=|2 2b 8 argsues‘:)gmasgam's‘n
135 61 ] 1 & 2e-3

rUsY A0 VAFID B Arge 6 Erd 8650 6 Jresw vwdw

Options:
1.% 4

2. %
3. v —4

o —12

Question Number : 8 Question Id : 544734168 Display Question Number : Yes Is Question

Mandatory : No
a a+l1 a-1

-b b+1 b-1
c c-1 c+1

Leta, b, c be such that b + ¢ # 0 and +

a+1 b+1 o |
a—1 b-1 c+1
D% ()" (1)

= (). then the value of ‘n’ 15

a a+l a-1 a+1 b+1 c—1
a,bcevob+c#008asw|-b b+1 b-1|+]| a-1 bh-1 c+1 |=
¢c c-1 c+1 (-1)””&. B (-1)"c

0 2008 ‘N’ VeI

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



Options:
Zero
wag»

Any even mteger
. R0 Yrgrosaw

Any odd integer

P 3 QPToS

Any integer

5 BT YPToSA0
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Question Number : 9 Question Id : 544734169 Display Question Number : Yes Is Question

Mandatory : No

If |z— 2| = |z — 1| . where z 1s a complex number, then locus ‘z” 1s a straight line

z 8 086 o |2 — 2| = |z — 1] et 'z’ G, Do Ardod HE¥OR

Options:

Parallel to x — axis
X 9528 DAT oSG

Parallel to y — axis
5 y DS DT oG

Parallel toy = x
3 % V=X S0 0Dod6a0
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Parallel to y = —x
YV = —X 8 VaAT"0BG00

Question Number : 10 Question Id : 544734170 Display Question Number : Yes Is Question
Mandatory : No

m

o Fetod e
It (1—- ) = 1. then ‘m’ can not be equal to
—3

m

1+1i
(1—_:) = 1 9003, ‘M’ 8 VAT 5708

Options:

, % 2024

. BHHD

4 % 10100

Question Number : 11 Question Id : 544734171 Display Question Number : Yes Is Question

Mandatory : No

2
If 1 + x? =+/3x.then 32, (x" —in) 1s equal to

X

2
1+x% = V3x. oowd T24, (x" — %) Dends HArS2B6

Options:
1 % 48

b
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2. v —48
3 % —24
4. % 24

Question Number : 12 Question Id : 544734172 Display Question Number : Yes Is Question

Mandatory : No

‘ 1 1 .
If @, B are the roots of 11x* 4 12x — 13 = 0, then B + — =7 (approximately close to)

1 1
11x% 4 12x — 13 = 0, &GS @, f w0 Aregd, PREL dewd?
Options:
| % 4.54

3 o 254

4. & 154-

Question Number : 13 Question Id : 544734173 Display Question Number : Yes Is Question
Mandatory : No

T o 4 2
The value of ‘a’ for which the equations x™ +ax+1=0andx” +ax” + 1 =0havea
common root 1

¥ +ax+1=02008 x* +ax’ + 1= 0 HDéderod 606 Surwo Goll, ‘a’ e

Options:
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Question Number : 14 Question Id : 544734174 Display Question Number : Yes Is Question
Mandatory : No

If ‘a’ is a positive integer such that roots of the equation 7x* — 13x + a = 0 are rational
numbers. then the smallest possible value of *a’1s

'@’ 28 6% QrTosaw. 7x” — 131 +a = 0 HADEOEDS Surwsne) eS6H
Ropfuond, ‘a’ L TriY SR R0 doeh?

Options:
7, % 3

2.v 6

3. %

Question Number : 15 Question Id : 544734175 Display Question Number : Yes Is Question
Mandatory : No
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Let p and q be the roots of the equation x* — 2x + 4 = 0 and let r and s be the roots of the

equation x” — 18x + B = 0.Ifp < g <r < s are in A.P. then the values of A and B are

12— 20+ A = 0 2DS6rrS p 28050 ¢ e Aureren 8ok ¥ — 18x + B =0
ADEOETDS T 2HBCKD § €0 AT, P < § < T < § ) WosFES’ Gol) A Bokw B
DRI JBRMT

Options:

Question Number : 16 Question Id : 544734176 Display Question Number : Yes Is Question

Mandatory : No

1 n—1 .
Forl=r<n v {"Prﬂ g )P,.H} 1s equal to

1 .
1 =7 = n oD@ — {"Pryy — F=p. .1} € DAFSDNE

Options:

n
1. % P
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Question Number : 17 Question Id : 544734177 Display Question Number : Yes Is Question
Mandatory : No

In how many ways 4 balls can be picked from 6 black and 4 green colored balls such that at

least one black ball 1s selected?

E%0 28 Y L0d DB, 6 HYR DBa 4 LBy Gorbed AL LeddL ot 4
0oV JE(fRBw?

Options:

, % 210
3 v 209

4. % 15

Question Number : 18 Question Id : 544734178 Display Question Number : Yes Is Question
Mandatory : No

In how many ways can 9 exammation papers be arranged so that the best and the worst papers

are never together?

08 200084, 09 BEB B0t B HOG 1 BB T, 9 DO ) Deswevrr
5300 (00

Options:

. o B—2T T
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, 0 9!1—21%8!
3 % 9!—8!

px 91—7!

Question Number : 19 Question Id : 544734179 Display Question Number : Yes Is Question
Mandatory : No

x> +6x+13
(3x +5)(x* + 4x + 4)

Which of the following is a partial fraction of

—x% +6x + 13
(3x + 5)(x% + 4x + 4)

OJB & Sod @ FE8 DT VD VATHAYBA?

Options:
3 n =31 4 2
3x+5 x+2 (x+2)?

1. %

2 4 —1 i 3
v 3x+5 x+2 (x +2)?

2

e | + 2 N 3
3x+5 x+2  (x+2)°

3, %

3 . 2 " -1
3x+5 x+2 (x+2)°

4, %

Question Number : 20 Question Id : 544734180 Display Question Number : Yes Is Question
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In a triangle ABC.1f3sinA +4cosB = 6 and 4sin B + 3cos A = 1. then sin(4 + B) is equal to

ABC 8202308° 3sinAd +4cos B = 6 2805 4sin B + 3cos 4 = 1 eowd sin(4 + B) dewad

Options:
1

1%

1
2. 2

- cos(C

Question Number : 21 Question Id : 544734181 Display Question Number : Yes Is Question
Mandatory : No

tana + 2tan2a + 4tan4a + 8 cot8a =

Options:

| % tanléa

3 ¢ cota

4 8 fana

Question Number : 22 Question Id : 544734182 Display Question Number : Yes Is Question
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cot x ST
If f(x) = e and a+f = - then the value of f(a) f(f) =
cotx oT

fO) =T 20Bawo @ + B ==~ @awd f(a) f(B) =
Options:

3
1. % 2

—3
2.% 2

=k
3. % 2

1
4.9 2

Question Number : 23 Question Id : 544734183 Display Question Number : Yes Is Question
Mandatory : No

If 6 € [0,2m] and cos 26 = cos @ + sin 6 then the sum of all values of 6 satistymg the
equation 13

cos 26 = cos B + sin f 2GS [0, 27] LodEANS” S0 FETV IS

Options:
217

1.8 2

11m
2.% 4

3.v
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Question Number : 24 Question Id : 544734184 Display Question Number : Yes Is Question
Mandatory : No

For how many distinct values of x. the following sin[2 cos™* cot(2 tan™* x)] = 0 holds?
x G0E), ) D) Dewswsy sinf2 cos™ cot(2tan™ x)] = 0 dPAded

Options:

1.3@8

Question Number : 25 Question Id : 544734185 Display Question Number : Yes Is Question
Mandatory : No

In AABC. suppose the radius of the circle opposite to an angle 4 is denoted by ry. similarly
r,oangle B.ry oangle C.Ifr; = 2,1, = 3,13 = 6, what 1s the value of ry + 1,413 -1 =
(R — Raduus of the circum circle)

r @080 38 TFOA. 1y = 2,1y = 3,13 = 6 0 SERT 000 4, B, C 08 b
o erir| )8 a:s.ﬂ“gm)w 0008, 1741, 413 1 = DD dod (R DO2Q T§rean)
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Options:
1.v 4R

2, % 3R
3, % 2R

4. % R

Question Number : 26 Question Id : 544734186 Display Question Number : Yes Is Question
Mandatory : No

a+b+c a+b+c

- C
In triangle ABC. — 3 then tan— =
e BC+AB T AC+AB : 8

a+b+c a+b+c C
= 3 0N tan—=

ARG @ma&mese BC+AB € AC+AB 8

Options:

, % V6+V3+v2-2
, x V6—v3—+2+2
s o V6=V3+vV2-2

Question Number : 27 Question Id : 544734187 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following vector 1s equally inclined with the coordinate axes?

& 806 TOS° D DOF VFTVE VAT D) B $OH God?
Options:

1_;,..,.;".i'+—2fj“+3"ii%
5 # 3E+3] —3%

4¢4?+4T+4%

Question Number : 28 Question Id : 544734188 Display Question Number : Yes Is Question
Mandatory : No

Ifi+4j +3k 1+2] +3k 31 +2] + kare position vectors of 4, B, C respectively
and 1f D, E are mud points of sides BC and AC. then DE is equal to

T+4]+3k i 42] +3k.301+2] + ke 360m 4,8,C© & e%e0. BC S0dosy
AC® .‘.13@55 Dot ST D, E w ond, DE & RATAAEG

Options:

1_3?+ + %
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Question Number : 29 Question Id : 544734189 Display Question Number : Yes Is Question
Mandatory : No

X tercept of the plane containing the line of intersection of the planes x — 2y +z+2 =0
and 3x —y —z+ 1 = 0 and also passing through (1,1,1) is

(1,1,1) Dockosdy Moot J'ddor B0k x —2y+2+2=0,3x—y-2z+1=0doro
Dot TR $OA Gol dv X 0030 ot

Options:
1
.8 3

Question Number : 30 Question Id : 544734190 Display Question Number : Yes Is Question
Mandatory : No

— T E. -F e — Ly —
If a and b are two vectors such that 71 m < 0and |a b | = |a X b | then the angle
a

between the vectors @ and b is

_— =
a.b

ain

@, b v6%0% <0200t [a.b] = [a'xb| eaws T, beo | Eniw
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Question Number : 31 Question Id : 544734191 Display Question Number : Yes Is Question

Mandatory : No
Let L (resp. L,) be the line passing through 2i — k (resp. 2i + j — 3k) and parallel to 3i — j +

2k (resp. i — 2j + k). Then the shortest distance between the lines L and L, 1s equal to

L, 038 2i —k thore J&r 3i — j + 2k £ rod6A0IT éold, Hboko L, & 5
2i 4 — 3k (ot T8 i — 2j + k £ 300S630m o) Ly 280 L, © S0cs| wd(oy
G600 Jod?

Options:
10

AP EAPCET 2021
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9
V35

Question Number : 32 Question Id : 544734192 Display Question Number : Yes Is Question
Mandatory : No

y T — ki —_ 3 — — 1 | n
Leta,b,c be three-unit vectorsand @’ .b =@ .¢ = 0. If the angle between b and ¢ is 5

A
then a,b,c] =
- ot e o s s m
E’,b,?aﬁmbeﬁméwa.b:a.c:{]mﬁmb,cvmq?mw?ma
: =% 28
[a,b,c] =
Options:
3

1.% 2

Question Number : 33 Question Id : 544734193 Display Question Number : Yes Is Question
Mandatory : No
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Let x, y are real numbers. If @ = (sin Y)i+ (siny)} andb = (cosx)i + (cos y)}?. then

—_—
|E’><b|1s

X,y 0 TR Vo, @ = (sinx)7 + (siny)] 2dcw b = (cosx)i + (cosy)] esond.

| @ x b | oxog), Dewsd

Options:
1 0

Greater than one

5 % i S:rl DSJZI:)

Less than or equal to 1

g o s‘“ﬂl e:se‘%a ST° DAT A
3. ¢

Less than 1

, o Lemyess

Question Number : 34 Question Id : 544734194 Display Question Number : Yes Is Question

Mandatory : No

The mean and variance of ‘n’ observations x;, x,, x5,

2 ;i
i=1X; = 400, then the value of ‘n’ is equal to

X4 X3 X3y ey oy BOTO0 BOSG0300 5 DD 0 306080 T, v, = 400 w0 1 =

Options:
1. = 80

AP EAPCET 2021
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3. % 20

16

Question Number : 35 Question Id : 544734195 Display Question Number : Yes Is Question
Mandatory : No

Mean of the values sin® 10°, sin® 20°, sin® 30°, ... ... ... ,sin? 90° is

sin? 10°, sin® 20°, sin? 30°, ... ... ..., sin? 90° DewHeLd ©908206(2020

Options:
5
1.¢ 9

o |~ w|m

O | -

Question Number : 36 Question Id : 544734196 Display Question Number : Yes Is Question
Mandatory : No

‘P" speaks truth in 70 % of the cases and ‘Q” 1n 80 % of the cases. In what percent of cases are

they likely to agree in stating the same fact

70 % Roo\08" P Q220 SrEPedeee 808 80 % Rogoryod” § dadw
TEPEITED. 28 TR RO ABod) 6 HEYEW DSFDoE=S 0 oerd[d
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Options:
. % 38%

2, » 4870

. % 52%

4 v 62%

Question Number : 37 Question Id : 544734197 Display Question Number : Yes Is Question
Mandatory : No

. 1 9 1
IfA Baretwoevents with P(ANB) = = P(AUB) = - and P(4C) = o then the value of
P(BL) is

1 5 1
A, B e Bot Sobden. P(ANB) = = P(AUB) = — nbat P(AC) = — oad P(BY)
220D Dot

Options:
1

1. % 2

1
> 3
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Question Number : 38 Question Id : 544734198 Display Question Number : Yes Is Question

Mandatory : No

A coin is tossed 2020 times. The probablity of getting head on 1947 toss is

w8 ir\E8 ) 2020 1 AN, 19472 B AEINNYE 85\ S0) D oS

Options:

(1)1947
1.% \2

, 1947

Question Number : 39 Question Id : 544734199 Display Question Number : Yes Is Question
Mandatory : No

A discrete random variable X takes values 10,20, 30 and 40. with probability 0.3,0.3,0.2,0.2
respectively. Then the expected value of X 1s

28 Y aircy3yS oruoed X 200 10,20,30 080k 40 . & ST S OV
SAR 0.3,0.3,0.2,0.2 09y A0S, X oS Qa0 E(X)

Options:
1, % 12
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> % 22

3. v 23

. 24

Question Number : 40 Question Id : 544734200 Display Question Number : Yes Is Question
Mandatory : No

Let X be a random variable which takes values 1,2, 3,4 such that P(X = r) = Kr® where r =
1,2,3,4 then

X=1{1,2,34)} 015“(33,‘?05 $ooe3d r = 1,2,3,4 2800 P(X =) = Kr® eand

Options:

1 - 5 8
K=— and P(5<X<>|X>1)=—

1 % 100 2 2 97
1 8

K=" and P(%{Xc:%”{::»l):—
.- 99 99
1 8
g L LWy T

3 ¢ 100 2 2 99
1 - 10
==— and P(%f:Xc::%H(}l):—

4 % 0 99

Question Number : 41 Question Id : 544734201 Display Question Number : Yes Is Question
Mandatory : No
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Given two fixed points A(—2,1) and B(3,0). find the locus of a point P which moves such

that the angle ZAPB 1s always a right angle.

A(=2,1) 208t B(3,0) e Bocd 36 Dochaepen. P & 28 50 Doty LAPB Srasdw
QLR P Vot Eraind e s 5. P Docddirsin

Options:
, x X2 +y*+x+y+6=0

5 o+ =1

3 « Xty+6=0

4 2x2 +2y2—2x—-2y+1=0

Question Number : 42 Question Id : 544734202 Display Question Number : Yes Is Question
Mandatory : No

When the coordinate axes are rotated through an angle 135°, the coordinates of a pomnt P in the

new system are known to be (4,—3). Then find the coordinates of P in the original system.

135° Esod om0 om0 BRI P 6 Dockid) T8, A8 Asrosew (4,-3)
9008, wvbsa‘gé‘ P Dothai) G3g), AEFISTOR BYSN.

Options:

&3

-3
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& %

Question Number : 43 Question Id : 544734203 Display Question Number : Yes Is Question

Mandatory : No

IfA(4,7). B(—7,8) and C(1,2) are the vertices of AABC. then the equation of perpendicular

bisector of the side AB 1s

(4,7). B(-7,8) dakw C(1,2) en AABC 5oz %g‘w ©owd, AB Foadw ds), Vo
0BG B3 LaEORSN

Options:

3 11x—y+24 =0

Question Number : 44 Question Id : 544734204 Display Question Number : Yes Is Question
Mandatory : No
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The ratio in which the straight line 3x + 4y = 6 divides the join of the points (2, —1) and
(1,1)1s

3x + 4y = 6 20%0D. (2,-1) 2803w (1,1) DocdpHwad $00 S i3y 9"
DLBRAR.
Options:

, % 259

2_;p.¢8:13

4 u e ]

Question Number : 45 Question Id : 544734205 Display Question Number : Yes Is Question

Mandatory : No

Find the equation of a line passing through the point (4 ,3), which cuts a triangle of minimum

area from the fust quadrant.

(4,3) Dotoed) ot Jeke, Ancsth Fer385" 6105 Gzbasdoo g DTV SR
&0l Aotbriv HEVER DedEsmw

Options:
1. ¢ 3x +4y = 24
2. % x—y =

3 8 2X+y=28

4 8 X—2y =5
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Question Number : 46 Question Id : 544734206 Display Question Number : Yes Is Question

Mandatory : No
If the orthocenter of the triangle formed by the lines 2x +3y—-1=0.x+2y+1=0and
1

: : @ 1
ax + by —1 =0 lies at origin, then—+—=
a

2x+3y—1=0.x+2y+1=0 28050 ax + by — 1 = 0 26wBOE 53635 ETAVERS)
s - |
Lot)S0G0 PLD0IY) LONS. k=

Options:

Question Number : 47 Question Id : 544734207 Display Question Number : Yes Is Question
Mandatory : No

The equation 8x% — 24xy + 18y% — 6x + 9y — 5 = 0 represents a

8x% — 24xy + 18y% — 6x + 9y — 5 = 0 PabEdRAD 28 D 2ArDiVed.

Options:

pair of perpendicular lines
& Do) OO 2ok
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pair of parallel lines

5 AT 0d0 GO 2ob)

pair of coincident lines
3 DEBDots Bae) 2ok

parabola

4 % DT o030

AP EAPCET 2021

Question Number : 48 Question Id : 544734208 Display Question Number : Yes Is Question

Mandatory : No

Find the angle between the pair of lines represented by the equation x? + 4xy + y* = 0.

4 4xy + ¥ = 0 2080660 Rrdotd Gw 06| s

Options:
30°

1. %

x 45°

3 » 60°

4, % 90°

Question Number : 49 Question Id : 544734209 Display Question Number : Yes Is Question

Mandatory : No
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. . ®
If the acute angle between lines ax® + 2hxy + by® = 01s 3 then 4h* =

ax’ + 2hxy + by’ = 0 arddod 6¥BL 6§ VWS % eoond, 4h? Dend

Options:

, @ @* +6ab + b?
, x (@—2b)(2a +b)

4 % a’ — 6ab + b?

Question Number : 50 Question Id : 544734210 Display Question Number : Yes Is Question
Mandatory : No

The angle between the lines represented by cos 8 (cos 6 + 1)x? — (2 cos 8 + sin? §)xy +
(1-cosB)y*=0is

cos B (cosB + 1)x? — (2 cos B + sin? B)xy + (1 — cos B)y? = 0PSB Arodd
DOVBaL J0cs| 8t

Options:
T

1.¢ %
v ¢ R
2. % 6

ml:l
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s B

Question Number : 51 Question Id : 544734211 Display Question Number : Yes Is Question
Mandatory : No

The equations of the tangents to the circle x* 4+ y? = 4 drawn from the point (4,0) are

(4,0) Do Ao0d 12 +y2 = 4 SIS o) 16,390 VL6

Options:

e? :i%g(-r—:;)
2. ® v:i%(x—_a_})
3% =i71§(.1*—4)
4, % 1:i%(1—4)

Question Number : 52 Question Id : 544734212 Display Question Number : Yes Is Question
Mandatory : No

If P(=9,-1) is a point on the circle x* + y* + 4x + 8y — 38 = 0. then find equation of the
tangent drawn at the other end of the diameter drawn through P.

x? +y? +4x +8y —38 = 0 38309 P(-9,-1) &€ oY, P oz b o
Q) 08 TR 96 AR 1016150 LS00

Options:
1 % 7x—3y =60
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IR 4 7x — 3}? — LT
3 % 7x + 3_1’ = 56

Question Number : 53 Question Id : 544734213 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a circle whose radius 1s 5 units and passes through two pomnts on the x-

axis which are at a distance of 4 units from the origin.

5 afard o 407, 1~ Mrwdotdi) Aodd 4 AP Er6:ES" ol Tod
Dotid® ot Vel a0 DALSEEA

Options:

1 % xP+y2—6x—-25=0

e X2+ y2—6y—25=0

3 o Xty +6y—16=0

g% X +y?+6x-16=0

Question Number : 54 Question Id : 544734214 Display Question Number : Yes Is Question
Mandatory : No
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If a foot of the normal from the point (4,3) toacircleis (2,1) and2x—y-2=01sa
diameter of the circle. then the equation of circle is

2x =y = 2= 0 R6¥0R0 TR0 10 2,8 5705 (4,3) Dotdog) Moot H wdvotde
DoRFBAN (2,1) o, & &8 PSCHAD

Options:

1% x24+y24+2x+1=0

) % X*+y*+2x—-1=0
B-V.TZ'*‘}?Z_ZI_].:O

4% 2% +y)—-2x-1=0

Question Number : 55 Question Id : 544734215 Display Question Number : Yes Is Question
Mandatory : No

The length of the tangent from any point on the circle (x — 3)% + (v + 2)% = 5r to the circle

(x=3)%+ (y+2)* = r*is 16 units. then the area between the two circles in sq. units is

(x=3)2 4 (v 42) = 512 5850 06 DA Dothoid) ol (x —3)2 + (¥ +2)? = 12 2528
(10 y6\50 T'6) 16 aordE0 0, 8 Bod ST Mffo PTOE ___ B crde’

Options:

2, % 4w
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Question Number : 56 Question Id : 544734216 Display Question Number : Yes Is Question
Mandatory : No

The equation of the circle. which cuts orthogonally each of the three circles x* + y* — 2x +
3y-7=0.x2+y2+5x-5y+9=0and x* +y*+7x -9y +29 =0

4y -2x+3y-7=0.x2+y* +5x -5y +9 = 020800 x% + y2 + 7Tx -9y +
29 = 0 508" 98 JT°0) VoS B B PDECHA

Options:
‘2 72 P P ; Ju— —
10X +) 16x —18y—4=0

5 % IZ +_V2 = aZ

3 % x2+y2—16x =0

L w VX 42x=0

Question Number : 57 Question Id : 544734217 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the parabola which passes through (6, —2). has its vertex at the origin and
its axis along the y-axis.

(6,~2) Dotk foor T, 0redotded) 56 ITR) O y-OLAWP T OT) v
ST H00HAN EGHAD

Options:

1 % ¥2=18x
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5> % 2 =18y
- X2 = —18y

Question Number : 58 Question Id : 544734218 Display Question Number : Yes Is Question
Mandatory : No

In an ellipse, if the distance between the foci is 6 units and the length of 1ts minor axis s 8
units. then its eccentricity 1s

28 BE3B0 AE), TEP{AG 6 Pk HBAK FI(EY T¢Y 8 P
NS, TR G8)088 e

Options:

Question Number : 59 Question Id : 544734219 Display Question Number : Yes Is Question
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Mandatory : No

If the pomnts (2,4,-1). (3,6,—1) and (4,5, 1) are three consecutive vertices of a

parallelogram, then its fourth vertex is

(2,4,-1).(3,6,~1) 8ok (4,5, 1) Doty w8 dirods SR SER %g;u:.
o8, ) U G0

Options:

2‘ e (3:1 :3)
< A * (1:313)

4 % (0,0,0)

Question Number : 60 Question Id : 544734220 Display Question Number : Yes Is Question
Mandatory : No

A(-1,2,-3), B(5,0,—6), C(0,4,—1) are the vertices of a triangle ABC. The direction

cosines of internal bisector of ZBAC are

A(-1,2,-3), B(5,0,-6), C(0,4,~1) e ABC S 3T°ew owd, £BAC Sedw g
008 a-RB(RG B2 a8 B5 §PR0w0 BeviYdw.
Options:

25 8 -5
, » V714 "714 "V714

25 8 5
5> V714 "\714 '\714
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5 6 8
3 % V74 'V74 "\74

Question Number : 61 Question Id : 544734221 Display Question Number : Yes Is Question
Mandatory : No

If the projections of the line segment AB on XY, YZ and ZX planes are v'15,v46, 7

respectively. then the projection of AB on y-axis is

XY,YZ 0Bk ZX dered’ AB Gar potiaw awg) DFaren 6Rm 15,146, 7 eand,
Y0509 AB dwg), DFDAN doh?

Options:
1.% 9

2.« 3

Question Number : 62 Question Id : 544734222 Display Question Number : Yes Is Question
Mandatory : No
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Find the equation of the plane passing through the point (2,1, 3) and perpendicular to the
planes x —2y+2z+3=0and3x -2y +4z-4=0.

(2,1,3) Doty oot P&, x — 2y + 22+ 3 = 0 208k 31 — 2y + 4z — 4 = 0 Serod
OB Gol BB VLB BV,

Options:
1 2x —y—22+3 =0
5 % C—2y+ 2—=3=0

3‘& 21-'_*},4}‘22*3:0

4. % 21+V_22'_3=0

Question Number : 63 Question Id : 544734223 Display Question Number : Yes Is Question
Mandatory : No

(ea:.t: —eX —_x
fx) =+ 3 | —
3
\ g " .

Find the value of *a’ for which the function f is continuous.

‘@’ a0E), D DedL P ADEGEINE WrDosed f OB DIAAW?

Options:

. % 1
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4. 2

Question Number : 64 Question Id : 544734224 Display Question Number : Yes Is Question
Mandatory : No

(e*-1)*

2 v« Where x # 0 and
sin(k—z) Iog(l + —2—)

The value of k" (k > 0). for which the function f(x) =

f0)=8___

X_q\4
x#08 f(x)= * IZ(E ) = (k> 0). 0800 f(0) =8 0 f(x) __ wowd. k'
sm(——)lng(l +?)

k2

Q0

Options:

1.% 1

2. % 4

3.v 2

4, %

Question Number : 65 Question Id : 544734225 Display Question Number : Yes Is Question
Mandatory : No

—— —_ . d
If log(vV1+ x2 — x) = y(V1 + x2). then (1 + x?) d_i} 4 xy

Iog(_\"'l + x?% — .1’) = y(V1+ xz) eo008. (1 4 x%) % + xy =

Options:
0

Y
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Question Number : 66 Question Id : 544734226 Display Question Number : Yes Is Question

Mandatory : No

If f"(x) is continuous at x = 0 and f"(0) = 4. then find the following value.

x =036 f () ) DA 80K f7(0) = 4 oS, Sob Jewd VY.

2f(x) = 3f(2x) + f(4x) _

X2

lim
x=0

Options:
1.% 4

2. % 8
3.v 12

4. % 16

Question Number : 67 Question Id : 544734227 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



Options:
2x

. Zogp

dy
then — =
dx

AP EAPCET 2021

Question Number : 68 Question Id : 544734228 Display Question Number : Yes Is Question

Mandatory : No

d —
7\ ran

Options:

COS X

1+ sinx

)-
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Question Number : 69 Question Id : 544734229 Display Question Number : Yes Is Question
Mandatory : No

: : i . -t |,
The maximum value of f(x) = sin(x) in the interval [T . ?] 15

=, 2 | wossawes® £(x) = sin(x) awogy, dog dews

Options:

Question Number : 70 Question Id : 544734230 Display Question Number : Yes Is Question
Mandatory : No

Given f(x) = x® — 4x, 1f “x’ changes from 2 to 1.99. then the approximate change in the
value of f(x) 1s

0 D0 2 Aoodd 1.99 £ ArBRYYD f(x) = 1° — 4x &' G008 ATy
Options:
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0.08

. 0.8

« —0.8

Question Number : 71 Question Id : 544734231 Display Question Number : Yes Is Question

Mandatory : No

2 2

X ; :
If the curves = + = 1and y® = 16x intersect at right angles. then a® =

2 2
% ¥ yT = 1 208050 1° = 161 500 2T ITED votor™ Dodochrgrd, a2 =

Options:

Question Number : 72 Question Id : 544734232 Display Question Number : Yes Is Question
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Mandatory : No

Let ‘x” and ‘y* be the sides of two squares such that v = x — x2. The rate of change of area of

he second square with respect to area of the furst square 1s

X" 0B Y 0 HERIMT Bt BRI Farw Teagen Baxy, y = x — x* ©owd,

A6 BTV DTV cs;,gv?s Ootied BAIGR) ;:_?05:13325‘3 Sy B

Options:

T 2
1-_\‘4,1 3x + 2x

5 u L2

3 % 2X

, u EERFR

Question Number : 73 Question Id : 544734233 Display Question Number : Yes Is Question
Mandatory : No

If f"(x) isa positive function forall x € R, f'(3) = 0 and g(x) = f(tan®(x) — 2tan(x) +

4) for 0 < x < —

T then the interval in which g(x) 1s increasing 1s

f'(3) =0 Sdosw 0 < x «:t% & g(x) = f(tan®*(x) — 2tan(x) + 4) ®ow. ¥ x € R 08

f"(x) 88 Do and. 2 Boddod” g(x) BEre HRAHN?

Options:

(&%)

1. %
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Question Number : 74 Question Id : 544734234 Display Question Number : Yes Is Question
Mandatory : No

ax =

J‘ 1+ x++Vx+x?
Vx +V1+x

Options:

1 -
?(w"l + 1) + c

1. %

2 ® \"'Il T+ X €

. u HL3E e

2 _
— 14+ +¢
4.v 3

Question Number : 75 Question Id : 544734235 Display Question Number : Yes Is Question
Mandatory : No
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[(tosx) log cot (ﬂl) dx =
J 2
Options:

(sin x) log cot (i-) +c

1. % 2

(cosx)log cot (L) + ¢

2. % .

X
(sinx)logcot(—)+x+ ¢
" =

&
(sin x) log cot (—) . e
4, % -

Question Number : 76 Question Id : 544734236 Display Question Number : Yes Is Question

Mandatory : No

f JE’M + e%* dx =

Options:

1 1
—e (\/ezx + 1) +—Sinh (") + ¢
0 & 2 2

1 -
?ex (\/egx + 1) + Sinh (&) + ¢
2. %

%(\/ezx + 1) + %Sinh_l(ex) + ¢

AP EAPCET 2021
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Ve** +e?* e +1+4¢

Question Number : 77 Question Id : 544734237 Display Question Number : Yes Is Question
Mandatory : No

l f
If f T dx— tan(f(.x)) + ¢ ,then f'(0) =

i 1
J T d% = tan(f(_.t)) +c ®ond f'(0) =

Options:
1.% 0

Question Number : 78 Question Id : 544734238 Display Question Number : Yes Is Question
Mandatory : No

m/2 m/2
If f tan™(x) dx = kf cot™(x) dx ,then
0 0
/2 /2
f tan"(x) dx =k f cot"(x) dx 008, Py
0 0
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Options:
{, w =1
5 u K=2
1
k=—
2
3. % -

AP EAPCET 2021

Question Number : 79 Question Id : 544734239 Display Question Number : Yes Is Question

Mandatory : No

2

‘ x e dx =

0

Options:

Question Number : 80 Question Id : 544734240 Display Question Number : Yes Is Question

Mandatory : No
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If x* + y? = 1. then

X2+ v% = 1 eo00d. 92

Options:
. YO -4 +1=0

ol wnll il -
5 » TV E 1T =0
o JO =) =1=0

2 # W) F2 ) +1=0

Section Id :

Section Number :
Mandatory or Optional :
Number of Questions :

Section Marks :

AP EAPCET 2021

Physics
5447345
2
Mandatory
40

40

Enable Mark as Answered Mark for Review and

Clear Response:

Yes

Question Number : 81 Question Id : 544734241 Display Question Number : Yes Is Question

Mandatory : No
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The speed of ripples (v) on water surface depends on surface tension (¢). density (p). and

wavelength (4). Then the square of speed (v) 1s proportional to

Q8 0BB0RNY Bow HMAW (v) VSIS (0), A Fogd (p) LBy 80oag0 () ©
D GG, BOI, & BV DN W) H60 BIS VNG IrWI SIS Gt

Options:
o

1w PA

Question Number : 82 Question Id : 544734242 Display Question Number : Yes Is Question
Mandatory : No

An object travelling at a speed of 36 kmph comes to rest in a distance of 200 m after the

brakes were applied. The retardation produced by the brakes 1s

36 kmph 3rioS HOIrEB) 28 I Bhrn Sorr 8 200 m Grdo STt
0T Déaufgaé‘aé S\B. 00, B8 G313 B a6 (6o Jod?

Options:

o 0.25 m.s ™2

5, x 0.20m.s7?
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. 0.15m.s7°

4 % 0.10m.s7?

Question Number : 83 Question Id : 544734243 Display Question Number : Yes Is Question
Mandatory : No

A ball 1s projected upwards. Its acceleration at the highest point is

208 L08R 8 DT 90 AAW. ﬁ&g Do) &‘)g o S(0800 Doch?

Options:
Zero

waé;m
1. %

directed upwards
D &3S’ &otoR

2, ®

directed downwards

So0d B35 Godo
3.V

such as cannot be predicted

QT8 otdT A0
4, % @

Question Number : 84 Question Id : 544734244 Display Question Number : Yes Is Question
Mandatory : No
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A 500 kg car takes a round turn of radius 50 m with a velocity of 36 kmph. The centripetal
force acting on the car 1s

500 kg G903 o 28 56 50 m as&g::m (10 TS0 Mo SrgAae” 36 kmph &
DOICEILINE. TR VAW BDTol LIVEW

Options:
. % 250 N

> % 750 N
5 » 1000 N

4 % 1200 N

Question Number : 85 Question Id : 544734245 Display Question Number : Yes Is Question
Mandatory : No

A motor cyclist wants to drive i horizontal circles on the vertical inner surface of a large cylindrical

wooden well of radius 8.0 m. with minimum speed of 55 m. s™%, The minimum value of

coefficient of friction between the tires and the wall of the well must be (g=10m.s7%)

28 AP 289 8.0m a;sa-go SBAR D Ardred B, re) TS, Y Sop $JR%0
515 m.s ™ Stiod H0irdemroriotsar) . 568, ¢ erd dg), FEs e| Goddwnd
2068 s g deod (g=10m.s7%)

Options:
1 % 0.10

, o 0.64

5 % 0.30
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Question Number : 86 Question Id : 544734246 Display Question Number : Yes Is Question
Mandatory : No

Two blocks A and B of masses 4 kg and 6 kg are as shown i the

figure. A horizontal force of 12 N 1s required to make A slip over A
B. Find the maximum horizontal force Fy that can be applied on B s Fp
so that both 4 and B move together, (take g = 10 m.s™%)

6 kg 302 $dAd B B0} 2O=RS 4 kg G023 $dA% A B0} 12N weordy
AT Aotreo. 0d A 000k B ev §B% Shentish B Bau) HAIrAod () S0
2ot Lo Fy dodd? (g = 10m.s™%)

Options:
1. 30N

>, % 27N
3 x 32N

4% 25N

Question Number : 87 Question Id : 544734247 Display Question Number : Yes Is Question

Mandatory : No

What is the shape of the graph between speed and kinetic energy of a body?

DAY e, A8, (32 338 NG| O TH____
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A straight line
1 % POV O

A hyperbola

5 % OBDTHVODHAW

A parabola

3 DT°0L0I0

Exponential

4 DT 080

Question Number : 88 Question Id : 544734248 Display Question Number : Yes Is Question
Mandatory : No

A quarter horse power motor runs at a speed of 600 rpm. Assuming 60 % efficiency. the work

done by the motor 1n one rotation 1s

T HP 320,300 8D .8 27er6 600 rpm 32 BEi309)8. 60 % BH8 G080,
28 B20530E" ArEr8 S DD Jod?

Options:

, % 7467

5 u 21193

4 » 11197
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Question Number : 89 Question Id : 544734249 Display Question Number : Yes Is Question
Mandatory : No

A particle of mass ‘m’ 1s projected with a velocity “u’ making an angle ‘6" with the horizontal.
The magnitude of angular momentum of the projectile about the point of projection when the

particle 1s at its maximum height 1s

GO(03 M’ (0 w8 SEPY) 2ORANG ‘0 Sradw SR U O NS DA BT,
0% 0 I6 6 Dy DD Doddo DT Sracdwy Eedad G dw W)
2022076300

Options:
1% 0

mu sin® 6 cos 6

2, % 28

2

2mu? cos® @ sin 0

3. % .

3

mu’sin® @ cos 6

4. 28

Question Number : 90 Question Id : 544734250 Display Question Number : Yes Is Question
Mandatory : No
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A sphere of mass ‘m’ 1s attached to a spring of spring constant ‘k’
and 1s held in unstretched position over an mclined plane as shown
in the figure, After letting the sphere go. find the maximum length m

by which the spring extends. given the sphere only rolls,

m (-3 SOAY 2.8 Avidw k f@om %ﬂ‘nsm $DAD w8

@umsa Sooud 63) 0. & 350 HHANY' EroY D 28
T BB, j@om FABADIED HOE" 63) 8. 28 FOT &
0080 (YT ST, Aivedn Seidn Sud e’ 8 (62
FGV | -

Options:
2mgsin @

1.¢ k

k
2mg sin 6

2. %

2sinf
3, % kmg

2mgcos 6

4.%  k

Question Number : 91 Question Id : 544734251 Display Question Number : Yes Is Question
Mandatory : No
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A gurl of mass ‘M’ stands on the rim of a friction less merry-go-round. of radius ‘R and
rotational mertia ‘I’ that 1s not moving. She throws a rock of mass ‘m’ horizontally in a
direction that is tangent to the outer edge of the merry-go-round. The speed of the rock. relative

to the ground 1s ‘v’. Afterwards. the linear speed of the girl 1s

%wn SRR &) ‘R’ a°5ﬁﬂganél 8-H-F0f w80 a30S); Mot (1w ‘M’
@3T8 o 28 8 Jowd. &) 6. Fdoem adddw T 8 ‘m @903 (i 2,8 ToW
550 8], EPER| ot 365 016102 BIS" $08 HrodEAT VO, Zrd

Fhg a0 T dg), 96 v’ wond e erds dws) daah ¢

Options:

mvR?
I + MR?

e

(m 4+ M)vR*?

mvR?
. I+ (M+m)R?

3

mvR?
4 x 1+ (M—m)R?

Question Number : 92 Question Id : 544734252 Display Question Number : Yes Is Question
Mandatory : No
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A block of mass 1 kg is fastened to a spring of spring constant of 100 N.m™". The block is
pulled to a distance x = 10 em from 1ts equilibrium position (x = 0 cm) on a frictionless
surface. from rest at t = 0. The kinetic energy and the potential energy of the block when it 1s

5cm away from the mean position 1s

1kg 83703 o B0} 28 Eagorb ) ASoEIB. i)oﬁ a8, gwsa.n 100N.m™ .
&mém f.»gmjn SV ’ro;&}l:!“g"é;ﬁw (x=0cm) bg 0PN t = 0 Aol x =

10 om 6w BTG, SPES A0 Aol 5 om Groaws’ 68) )& B awg)
(2 B3 fg@a BEOR ST

Options:
¢ P Q375 ) D125)

, % 01257, 0.375]
5 % 01257, 0.1257

4 % 03757, 0.3757

Question Number : 93 Question Id : 544734253 Display Question Number : Yes Is Question

Mandatory : No
The scale of a spring balance which can measure from 0 to 15 kg 15 0.25 m long. If a body

: ; R— g 288 : ,
suspended from this balance oscillates with a time period T seconds. neglecting the mass of

the spring. find the mass of the body suspended.

0 &oC. 15 kg Ociofboen o) 2,8 A)of EAd 0g) M),e0 0.25 m TP &) 8. & Nofd

2
TRONE) DTPEANN w8 SR ARVBSVANG’ -gf 2RV 83363 TG’ EoTw
Sodociod) &. Ryord cg) ST D) Boddtond, DTEAND @03 dod?

Options:

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

1‘\»_(,;.2111“1\59

5> % 1kg

5 » 20 kg

Question Number : 94 Question Id : 544734254 Display Question Number : Yes Is Question
Mandatory : No

The distance through which one has to dig the earth from its surface so as to reach the point
where the acceleration due to gravity is reduced by 40 % of that at the surface of the earth. is
(radius of earth 1s 6400 km)

3 6203080 Aol dod &'y 36 MASBIEE Devsd, Hr EHBIVAVY €
AS(EGe0 Jendd’ 40 % S ? (g J‘éb‘gﬁ 6400 km e S8 )

Options:
1 2560 km

5, x 3000 km
x 3260 km

3

4 % 1560 km

Question Number : 95 Question Id : 544734255 Display Question Number : Yes Is Question
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Infinite number of masses each of 3 kg are placed along a straight line at the distances of 1 m.
2m,4m.8m, ...... from a point O on the same line. Ig G 1s the universal gravitational

constant, then the magnitude of gravitational field intensity at 0 1s

28] 66 3 kg @A(oRow ©ded }’aowﬁé‘ 28 DOVODS" w8 Do) 0 Kol 1m. 2 m.

dm.Bm. ... APoUS G 0. FE(ES DA NS0 G ©ad 0 I6 HAS £
@ @

O CIE), HBATESD

Options:

% 10G

, % 206
. % 306

Question Number : 96 Question Id : 544734256 Display Question Number : Yes Is Question
Mandatory : No

Young's modulus of a wire is 2 X 10** N.m ™2, If an external stretching force of 2 X 10** N is

applied to a wire of length L. the final length of the wire 15 (cross-section = unity)

&M Qg okl R 2 X 10 Nom™. L T tlo &ip 2 X 10 N eriry wiwiw
GOOrROD) A, € A B0b Te Jod? (S Byew=dsTosw)

Options:
Rt

5 u B8
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Question Number : 97 Question Id : 544734257 Display Question Number : Yes Is Question
Mandatory : No

Identify the incorrect statement regarding Reynold’s number (R, ):

R, @038 8378 Vo] ©ond & $08 T°e5° 2B

Options:

for R, < 1000. flow 1s laminar

. % Re <1000 200282, 80k Hariram

for 1000 < R, < 2000. flow is steady

5 » 1000 < R, < 2000 ©2008DW, QUSE DI°3°00

for R, > 2000. flow is turbulent

- R, > 2000, mngg FoFe o e by

R, is a dimensionless number
R, 088 QAGe "eoaaas

4. %

Question Number : 98 Question Id : 544734258 Display Question Number : Yes Is Question
Mandatory : No

Expansion during heating:

¢ VoA HOD T E Dot SVD VAPBB?

Options:

1. %
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increases the weight of a material
S0P WS, WD) DEMHBS

decreases density of material

SR W), FoBS SLSVA
P =n 0

Occurs only 1n solid
. 0D :)c:“g“vé“ S 28BS

Occurs at same rate of all liquids and solids

i Garen 803D ;né::wgvé‘ 208 BeS 20800800

Question Number : 99 Question Id : 544734259 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

Column-I Column-II

(a) Ratio of change in time period of a simple pendulum with Q) T
e . 1)
temperature to its original time period

(b) Ratio of the value of a length to its scale reading (m) T

(c) Reciprocal of coefficient of volume expansion for an ideal

gas of constant pressure
F 1
d) —= iv) — alAT
@ + i) >

(1) (14 aAT)

$08 TN BADHGBG?

S0W -1 S0N 11

() eg‘gaé‘ V05" VLA Y, EOTIED SVANGD

—
A7 %, T 00 8363 S Ayd S

(b) T ), N D) T e Béord LAV IR | (i) T

(©) 3 SERBN 96 BEG) TORVY) WIHBEH DS

GBE), (S0 (111) (1 + aAT)
F 9 Laar
952 = (iv) > a
Options:

| % (a—iv),(b—ii),(c—1i),(d—iii)
L« (a—iii),(b—iv),(c—ii),(d—1i)
5 % (a—iv),(b—i),(c—ii),(d—iii)

s » (a—iv),(b—iii), (¢ —ii),(d —1i)

Question Number : 100 Question Id : 544734260 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following 1s NOT a reversible process?

& 808 T7IS° DA BSaH HEADH S

Options:

Melting of ice
300830 BDBIDAN

1. %

Conduction of heat

3 DG
2.w$§9

Isothermal expansion of gas

. i TO30 D eggas a=5§°z:s.:m

Adiabatic expansion of gas

T3 HENRE T8
4, ® 28

Question Number : 101 Question Id : 544734261 Display Question Number : Yes Is Question
Mandatory : No

Which one of the graphs below best illustrates the relationship between mternal energy U of an

ideal gas and temperature T of the gas in K?

28 09056, T O0i9) G008, ©0B0S ¥4 DAY T Aog) & o 306 HotoBiandd
SBotd )

Options:

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

L

1. ¢ T

A

0 >
2. % "

U

0 T

3. %

U \

0 >
4, % ¥

Question Number : 102 Question Id : 544734262 Display Question Number : Yes Is Question
Mandatory : No
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A refrigerator with coefficient of performance 0.25 releases 250 J of heat to a hot reservoir.

The work done on the working substance is

$air308 Mo 0.25 $BAD 28 36DS0m oogan 250 T 13 GarI0ANIL
DGV BRVOE. DA B g 2003 I

Options:
100

—

1.% 3

, % 15017

3 v 2007

4 % 507

Question Number : 103 Question Id : 544734263 Display Question Number : Yes Is Question

Mandatory : No

A vessel has 6 g of oxygen at pressure P and temperature 400 K. A small hole 15 made in it so that

; . P .
oxygen leaks out. How much oxygen leaks out 1f the final pressure 1s o and temperature 15 300 K?

DG P 805 600 400 K 56 28 39 6 g 68129 490 63)6. wdyad nabes

P
3i30\0% 86 D3) Boghidn BT, 806 i — oty &0 300 K 3 dod w823
WO ?

Options:
1. % 59

2_&%49
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Question Number : 104 Question Id : 544734264 Display Question Number : Yes Is Question
Mandatory : No

Match the following:

Column-I Column-II
e s o - 4\
(a) Transverse wave through a steel rod (1) J B+ (3*)“;
(b) Longitudinal waves m earth’s crust (11) %
e 2nT
(¢) Longitudinal waves through a steel rod (111) —
g
: : A
(d) Ripples (iv) ?
$o8 AN BADGLOG?
00 -1 Q8N - 11

(a) 28 68y 86 Tro° SO[E Bborren (i) J B+ (%) 1
p

(b) Freddsosws’ eRBdedare | () (1

p
&2 &8 OO B8 6T | 20T
(€) &S, S Tr(0" BRVFG S0 (111) o

Options:
1. ¢ (a—ii),(b—i),(c—iv),(d—iii)
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(a—i),(b—iii),(c—iv),(d—ii)

3 % (a—iii),(b—iv),(c—1i),(d—ii)

4 % (a—ii),(b—iv),(c—1i),(d—iii)

Question Number : 105 Question Id : 544734265 Display Question Number : Yes Is Question
Mandatory : No

Light of wavelength 300 nm in medium A enters nto medium B through a plane surface. If

the frequency of light is 5 X 10** Hz and the ratio of speed in medium 4 to that is medium B

. 4 AR . :
18 T the absolute refractive mdex of medum B is.

300 1m SGerBgN (0 5700 DNSY GBSV Tr(T AlrE0 A Aol rdSAw B
6" HO0Dod. 08 THYI(AW 5 X 10 Hz wawd A 2000k alrdein B 08" Sro

4
Ay — owd, oS80 B aws) 6 482858 AREAD Jod?

Options:

1, @0
2. % L5
3.% 1.3

4 u 145

Question Number : 106 Question Id : 544734266 Display Question Number : Yes Is Question
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In Young's double slit experiment, the separation between the slits 1s halved and the distance

between the screen is doubled. The fringe width is

a%0of 20t VB8 HAr LS DL S0y GroeR) TS Bodd, DS LBasw B6 L6
Aro) 8o BTG, D ey

Options:

Unchanged
. SEE

Halved
- Rffo 9N

Doubled
.y 080 ©PHBB

Quadrupled

J o TR BB

Question Number : 107 Question Id : 544734267 Display Question Number : Yes Is Question
Mandatory : No

Gauss’s law helps 1n:

TR AOHEAAD B35 &DHATHDEIR
Options:

Determination of electric force between point charges
Doty BITV 0G[ DS WLV SAH WL

1. %

Situation where Coulomb’s law fails
&37e0087 DODVAD DIBADHD ::afgmu&
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Determination of electric field due to symmetric charge distributions

. TR 8D DAL VD AO6yE DA EB20 SAFTWLDH
5 -

Determining electric potential due to symmetric charge distributions

5 ﬁga e50% DG VD Dd:)é 2)65356 ﬁ“ﬁgoﬁoé 8 S0 0L

Question Number : 108 Question Id : 544734268 Display Question Number : Yes Is Question
Mandatory : No

Charge on the outer sphere 1s ‘q" and the mner sphere 1s grounded. The charge on the mner

sphere 1s q'. for (5 > ry). Then

i Fia e Degerdsan ‘g dakw 6D Fean zirds s, &' Hivaw
A QAT q' (r; > 17). ODD

Options:
1. ﬁ qrrl ™ qu
! —_—
289 =q
¢ ==q
3 % 2

Question Number : 109 Question Id : 544734269 Display Question Number : Yes Is Question
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Four capacitors with capacitances C; = 1 uF. G, = 1.5 uF.

C; = 2.5uF and C; = 0.5 puF are connected as shown and ; . .
2 C Ca
are connected to a 30 volt source. The potential difference | b :
between points a and b 1s: Cs C,
30V

C, = 14F.Cy = 15 iuF, Cy = 2.5 uF 308080 C; = 0.5 uF Il
sarntien DA% 3P0 e HLBNS' BrHd e 30 V 2858

$000 LGB, ©owd a Bk b DeiL Hd JE 0D

6300 dod?

Options:
1,2 3V

> % 9V

. » 10V

1 v 32Y

Question Number : 110 Question Id : 544734270 Display Question Number : Yes Is Question
Mandatory : No

In a potentiometer of 10 wires, the balance point is obtained on the 6™ wire. To shift the balance
point to 8" wire, we should

10 Srien £DAD 28 ?agoarbmé &, 6 A VBN Dotidd) %)ojc‘;aa. TR 8 &
QL S8y BoBotrsy Do) acnrﬁa?

Options:
Increase resistance in the main circuit
2 DED HODBWS” AT Dotd
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Decrease resistance m the main circuit

" DD dwoHHANS” DB TR SHod
2. % i

Increase resistance in series with the cell whose emf 1s to be measured

5 B 2.6°.20 SRFTIDODD 20erAS 3635 AT o

Decrease resistance in series with the cell whose emf 1s to be measured

. 2.0°.2) SROFTDSVVD 2erAS 363S° ATy e:sgowb
4, %

Question Number : 111 Question Id : 544734271 Display Question Number : Yes Is Question
Mandatory : No

In a co-axial. straight cable. the central conductor and the outer conductor carry equal currents n

opposite directions. The magnetic field 1s zero

28 DiFsaD SR~ Sed &’ mc_sgg 010 EPeT| TS VAT Dd}ﬁé DTN
G 36" 590 &) . Land I8 & ©aH o8 FS0 A R0R0?

Options:

outside the cable

Sees 8 ar::*:sm
1.

mside the inner conductor
| O TIrsan 60D P

imside the outer conductor

il ) TS0 §0Y 2

in between the two conductors
Oot) TSV 06 2rsa00e5”
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Question Number : 112 Question Id : 544734272 Display Question Number : Yes Is Question
Mandatory : No

The magnetic field. of a given length of wire for single turn coil. at its center 1s ‘B’. then its

value for two turns coil for the same wire 18

TR TE (10 A 2,8 R & Boedn I6 AL 0d 68 ‘B'. €8 Brf Totd
SOV TR 8 Ve

Options:
B
.% 4

Question Number : 113 Question Id : 544734273 Display Question Number : Yes Is Question
Mandatory : No

A solenoid of length 60 cm with 15 turns per cm and area of cross section 4 X 107° m*

completely surrounds another co-axial solenoid of same length and area of cross-section

2 107° m” with 40 turns per cm. Mufual mductance of the system 1s

60 Roiad T3 8 Dojad & 15 oew $DA, 4 X 107" m” SogiB\e T 9A% 28

ToTant o Tewp, 2 X 107 m’ 26 dTon ¢85, 99 Rojad & 40 tew
0% Dig ToTawis Whndod. ¢ Si5% s {00 dod?
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Options:

1‘\5,,9mH

. 6mH
- SmH

4 % 10mH

Question Number : 114 Question Id : 544734274 Display Question Number : Yes Is Question
Mandatory : No

A bulb of resistance 280 (1 1s supplied with a 200V AC supply. What 1s the peak current?

280 () DFGA Ao 28 R0y 200V 235708 S0, A0 396 Dedd

Options:
Nearly 14
14 S &a6mT
Y a

Nearly 24
2A S &SaoT
% 0

Nearly 1.4 A

. 1.4 A s &aor
3. 0

Nearly 2.8 A

2.8 4 & &40
4, % 0
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Question Number : 115 Question Id : 544734275 Display Question Number : Yes Is Question
Mandatory : No

The magnetic field of a plane electromagnetic wave is given by B = (400 u T) sin [(4.0 X

- X ‘ i . e .
107 s 1) (t - ?)‘ Average energy density corresponding to the electric field is

O 08 SSING ddode 3m5aom&boa SGorfedn) DY Rob.
B = (400 1 T) sin [(4.0 x10%57) (z s %)] e ET8 DT A0 38 Forsd doo?

Options:

8x10 3 JIm™

1%

, » 31.8X107 Jm™

; % 80X107° Im™

4 % 318%x107° Im™®

Question Number : 116 Question Id : 544734276 Display Question Number : Yes Is Question
Mandatory : No

The de Broglie wavelength associated with a proton under the influence of an electric potential

of 100 volts 1s

100V Desof TS perditond JErdd' Rowotsitnd &) 8 S601BG dos?
Options:
, % 1227 A
5> o 2.86 pm
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. o 12274

: =21
4 % 1146 X 107" m

Question Number : 117 Question Id : 544734277 Display Question Number : Yes Is Question
Mandatory : No

The 1onization potential of hydrogen atom 1s 13.6 V. How much energy need to be supplied to
tonize the hydrogen atom 1n the first excited state.

TEBS g LoLAS6H TES 13.6 V. wowd 2cs edes Fond’ TEES
DOATENGR VOHAEBOEILL BIVEAND 3§ dod?

Options:
13.6 eV

1. %

, % 27.2€V

. x 68eV

Question Number : 118 Question Id : 544734278 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement is correct?
QNS TS DT DIBHID IO?

Options:
1. ¢
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The rest mass of the stable nucleus 1s less than the sum of the rest masses of its separated nucleons
gdam &) Sodsaw DT gb}gu*-"a’ 90D’ SIPY el 2T (TR B0 Sol) 88

The rest mass of the stable nucleus 1s greater than the sum of the rest masses of its separated nucleons

5 % QORI 635) S Dosh) BT ool Serw DG Jorsy TR G So) Ay

In nuclear fission. energy 1s released by fusion 1s of two nuclei of medium mass (approximate 100amu)
4 068 D06 8 At ST 0 Boc> Lo DAY Bod DT 98

In nuclear fission. energy is released by fragmentation is very low atomic mass nucleus
, s 5088 DS e 8.5 T o AT o 208 T ¥ Do)

Question Number : 119 Question Id : 544734279 Display Question Number : Yes Is Question
Mandatory : No

The length of germanium rod is 0.925 cm and its area of cross section is 1 mm?. If for germanium n, =

25 x10Ym™3, u, = 0.19m?/ v —s, p, = 0.39m?/ v — s, then the resistance of the rod is

wS 30} 0 sé Q). T ) 0.925 cm 08050 &+ V@G T 1 mm?. &0 NaHAI)
n =25 X 10°m™, = 0.19m*/ v—s, g, = 0.39m?/ v —s NS ¥ 4G AE) WG

Options:
1. % 250

, o 400

. % 500

4 % 1000
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Question Number : 120 Question Id : 544734280 Display Question Number : Yes Is Question

Mandatory : No

In an amplitude modulated signal the maximum amplitude 1s 15 V and nmunimum amplitude 1s

5V. The amplitude of modulating wave will be

28 S00R DBLS am:ﬁaf: TG NoSBaW g, rﬁﬁi& 0030 53‘%1 00 DB

AR 15 V 208adw 5V eand améems Bofi $00% HOA od?

Options:
1. ® 5V
> 10V
3 % 20V
4 % 30V

Chemistry
SectionId: 5447346
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

AP EAPCET 2021

el

collegedunia:s

India’s largest Student Review Platform



AP EAPCET 2021

Question Number : 121 Question Id : 544734281 Display Question Number : Yes Is Question

Mandatory : No

Assuming that the meident radiation 1s capable of ejecting photo electrons from all the given metals,

the lowest kinetic energy of the ejected photoelectron is observed with which of the given metals?

BroD et §'dop S8R0 D8bro BN) 60 ol T0d VTS R EFEAW
SO EEBODLERD JUSS ), (1938, D §'5PA0 Dol DVHED, e B8 ot

Options:

1, % Na

Question Number : 122 Question Id : 544734282 Display Question Number : Yes Is Question

Mandatory : No
If the energies of two light radiations E; and E, are 25 eV and 100 eV respectively. then their

respective wavelengths 4, and A, would be in the ratio 4;: 4, =

00l 5708 DS6IY JEPRY 38 denden E; 080k E, a0 S 25 eV Sodasn 100 eV,
) B6oRT L0 1y B 1; © Mgyl

Options

R

R e

3. =

1

1

1 4
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g% 1:2

Question Number : 123 Question Id : 544734283 Display Question Number : Yes Is Question
Mandatory : No

The electron configuration of Fe3? is (atomic number of Fe = 26)
Fe’™ aing), dusS DT (Fe 8557e R0 =26)
Options:

_ [Ar] 3d° 4s?
1. ®

. [Ar] 3d° 4s°
2.
3 o Ar] 3d° 4s°

4 w [Ar] 3d° 4s?

Question Number : 124 Question Id : 544734284 Display Question Number : Yes Is Question
Mandatory : No

- B R %2
The element with outer electronic configuration (n — 1)d° ns”. where n = 4, would belong to

n=48& (n-1d ns* | QOFS DRI (0 Jresin &) By,

Options:

2™ period. 2™ group
2 3 DBADE. 2 S 34D

2.
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4™ period. 4™ group
4 3 HBADE. 4 S (XD

4" period. 2™ group
i § 4 5 HBAHE. 2 S 37D

a .. th
2" period, 4™ group

5 i 2 3 HBODE. 4 S D

Question Number : 125 Question Id : 544734285 Display Question Number : Yes Is Question

Mandatory : No

Choose the correct option regarding the following statements:
Statement-1: Nitrogen has lesser electron gain enthalpy than oxygen.

Statement-2: Oxygen has lesser 1ionization enthalpy than nitrogen.

13 Si8somsn: E'BIL, 68189 77 5,5 VTS | oty oo
2 3 Hddonsn: 68\BSD, DS §T7) B4y, H OATIBRS JoTrdy G0t

Options:

Statement-1 is correct. Statement-2 1s wrong
1 5 H{SS0eA0 VPG, 2 S JIFECrIW S

1. %

Both statements 1 and 2 are wrong

1 2080500 2 & H{SSCeaA0 oty Yy
2. %

Both statements 1 and 2 are correct

L 1080023 D{SSBEBN Tothr WPHDHD

4, ®
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Statement-1 1s wrong. Statement-2 1s correct
1 5 5000 3y, 2 S SIS DJH

Question Number : 126 Question Id : 544734286 Display Question Number : Yes Is Question
Mandatory : No

Among the given configurations. identify the element which doesn’t belong to the same famuly
as the others?

TR QrUSR o)ugﬁ DS“SFOG 06 ATPROBREID. TS’ AT w8 (PO BodR. &3
(Ara% Bota) Srvso 8’

Options:
2 5
7 o [Ne] 3s“ 2p

s o [Ar] 3d1° 452
o [K71] 4d° 552
3. %

. [Xe] 4f** 5d*° 452
4 w

Question Number : 127 Question Id : 544734287 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following has the highest dipole moment?

So0& T°¢3¢5° BS OSI(BS AYEITSID &) B?

Options:
NH,

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021
2.v 30

. N,O

€O,

Question Number : 128 Question Id : 544734288 Display Question Number : Yes Is Question
Mandatory : No

How many among the given species have a bond order of 0.5?

Socd QIR 200" 2o SATesAD 0.5 &) D) ?

+

H, , He, , He, , B, , F; , Bes

Options:
1.% -

2. % 3

Question Number : 129 Question Id : 544734289 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Molecule Geometry
(a) SnCl, (1)  Angular (or) Bent
(b) XeF, (11) See-saw
(c) CIlF; (i1) Square pyramidal
(d) IFc (1v) T-shape
(v) Square planar

$08 TR 2SWALVEN?
6V EVY) 85,3

(a) SnCl, (i) Erdoo

(b) XeF, (1) Srd v

(c) CIF, (1) WSGR WSS"do

(d) IF; (iv) Tessyd

(V) s Sd060

Options:

% (a—i),(b—iii),(c—v),(d—v)
,  (a—iv),(b—v),(c—i)(d—iii)
a—i),(b=v),(c—iv),(d—iii)

3.0 ¢

4 x (a—iv),(b—iii),(c—ii),(d—v)

Question Number : 130 Question Id : 544734290 Display Question Number : Yes Is Question
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Among the following, the maximum deviation from ideal gas behavior is expected from

636, T0H0 DGR ol BB DIVTV) T80 $9 okt erotsaidy.

Options:

L@

CH
2% 1@

Question Number : 131 Question Id : 544734291 Display Question Number : Yes Is Question
Mandatory : No

Two flasks A and B have equal volumes. A 1s mamtained at 300K and B at 600K. Equal masses

of H, and C0, are taken in flasks A and B respectively. Find the ratio of total K.E of gases m
flask A to that of B

A S0800 B 9% Boch) rgen 28 udddarndw s8A 6d)d. A g 300K 3¢, B S
600K 56 Got)Ted. R (03w (0 H, & (0, SHAT Taoyoid A, B rgod
SREIR, A B0k B rged’ o Trakode andan (3230w Aind

Options:

p, @ H
2. 11: 1
5 %3312
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4 % 20 7

Question Number : 132 Question Id : 544734292 Display Question Number : Yes Is Question
Mandatory : No

If 0.2 moles of sulphuric acid 1s poured 1n to 250 ml of water, calculate the concentration of the solution?

250 ml © Borsned’ 0.2 Ardy '&uw")'sﬁé o G 8 Tre MGd

Options:
1‘ % O-8 N

, » 08M
3, % @M

, 0.2 N

Question Number : 133 Question Id : 544734293 Display Question Number : Yes Is Question
Mandatory : No

For the redox reaction
Mn0; +C,0{ + H* - Mn** + €0, + H,0 . the correct coefficients of the reactants for the

balanced reaction are respectively Mn0; ,C,07 and H*

MOz + G0~ + HY = Mn** + C0, + H,0 0% 8e-§y $6{% Mn0g ,C,08 Sodain
H o fesren 6o

Options:
1 o 2.5%.96
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5 w 16,8,

5 u 35,46,12

4 % 2,16,5

Question Number : 134 Question Id : 544734294 Display Question Number : Yes Is Question
Mandatory : No

When the temperature of 2 moles of an 1deal gas 1s increased by 20 °C at constant pressure.

find the work mvolved i the process.

0 RIS 36 2 Ae0w) 860, oI S eg‘gam 20 °C % Dotrd. & D50
YD) B &) NI

Options:
SR

1. %
, v 40R
5 % 15R

4 % 20R

Question Number : 135 Question Id : 544734295 Display Question Number : Yes Is Question
Mandatory : No
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Using the data provided. find the value of equilibrium constant for the following reaction at
1
298 K and 1 atm pressure. Nﬂig} + = 0, @ < NO, @
0 -1
AsH'(NOg) = 90.4 kl.mol
0 - : -1
AH® (NOy ) = 3248 KlLmol
AS° @298 K = -70.8 .K ™ .mol™*
antilog(0.50) = 3162

. ’ . 5 1 ”
D 6807) &1Arhed. 298 K. 1 atm 6do 56 N 0t 75 02 g = NOz gy S

W%@ gﬂ‘*oSo DAV (e300
Options:

. » 3162 %10°

, % 3.162x107*

3 3.162 X 106

7
4 % 3162 %10

Question Number : 136 Question Id : 544734296 Display Question Number : Yes Is Question
Mandatory : No

Calculate the pOH of 0.10 M HCI solution.

0.10 M HCI grodesdn ads), pOH DD Doh?

Options:
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Question Number : 137 Question Id : 544734297 Display Question Number : Yes Is Question
Mandatory : No

Which among the following pairs 1s not an acidic buffer?

Sod T°63¢5° 2 D6 TrdE STIA B?

Options:

1 % HCOOH & HCOOK

, , HClO, & NaClo,

3 % CﬁHSCOOH & CﬁHscOONﬂ

4 % HCN & KCN

Question Number : 138 Question Id : 544734298 Display Question Number : Yes Is Question
Mandatory : No

Assertion(A): The colour of old lead paintings can be restored by washing them with a dilute

solution of H,0,.
Reason(R): Hydrogen peroxide reduces PbS to Pb

QB SA(A): v20 Hy0, aned SGH YD 06 8o AL Gordd) RSBt
TEna(R): FE2S DoF\E PhS & Ph T $00S80.
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Both A and R are true and R 1s a correct explanation for A
A 2508030 R Godssr D8QDAD. 08030 R 938 A 8 28D DHG¢ee

Both A and R are true but R 1s not a correct explanation for A

, s A 208050 R Boctr 28D, SO R 036 A $ 008G Ddde 5

A 1s true. R 1s false

L o A QBB 5 R 08 5o

A i1s false. R 1s true
4 % A DB T, 50 R 0BDHG

Question Number : 139 Question Id : 544734299 Display Question Number : Yes Is Question
Mandatory : No

1s used to react with Na,C0;.

In the preparation of baking soda. H,0 and C0, in ratio

880f Yo Sairde Sod0dn NGBS Hy0 0800 €0, 0 &HAFAY D

Options:
1% 3:1

> % 132

. N |

4o 131

Question Number : 140 Question Id : 544734300 Display Question Number : Yes Is Question
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Mandatory : No

The structure of diborane B, H, 1s given below. Identify @

the bond angles x, y. In diborane.
commonly known as banana-bonds

G258 Jo)t0 Do’ RSWANB. ¥,y wegETe \ @| s,

&0 50300 20608 & Ferdsor N @é % / \
LT LOGTL) Botre. o *6 ----- @

Options:

2.

- ;

X

—
J—

101°, y = 118° and 2-centered-3-electron bonds

101°, y = 118° 08030 2-808S-3-dUS°Q LoTed

97°, v = 120° and 3-centered-2-electron bonds
97°, vy = 120° JSodain 3-§o@5-2-avg’5 AT AR SS!

118°, y = 79° and ionic bond between the two B’s
118° y = 79° So6ai Goto B © &':DG&)S e9035°0S oo

79°, y = 118° and ionic bond between the two B’s
79°, y = 118° 208080 ot B © 206§ €05 et

Question Number : 141 Question Id : 544734301 Display Question Number : Yes Is Question

Mandatory : No

The incorrect statement among the following is /are

808 T°S° @ DHAWVDAD DB S

Options:

1

R®

AP EAPCET 2021
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NClg does not exist while PCl; does
PCls 0008 520 NCls 0Dotdesd

Pb prefers to form tetravalent compounds

S Pbh Ho03rageh Tred ™ 6o :b.’&)év.ve)m Ddbdomm

The three C — O bonds are equal in the COZ ion

5 0 CO%™ airdue’ 20red € — 0 LofPe) DEAT°HAD

Both 0 and NO are paramagnetic

03 208050 NO Boter, 3°0° 9057 08 DET e
4, ®

Question Number : 142 Question Id : 544734302 Display Question Number : Yes Is Question
Mandatory : No

Which among the following has the highest concentration of PAN?

200TES" wdjed mEss” PAN D $0A 6ocdd D47

Options:
Acid Ran

€33 D80
1. R =W

Oxidizing Smog
38866 ) H
5 T )

Reducing Smog

EoDECE .3*’&5
3. %
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Ozone
58D

Question Number : 143 Question Id : 544734303 Display Question Number : Yes Is Question
Mandatory : No

What is the TUPAC of CH;CH(CH,CH)CHO ?

CH;CH(CH,CH3)CHO 0308), TUPAC S0 968 ?

Options:
Butan-2-al
e(0-2-e35

2-methyl butanal
2-036 r(>S

3-methylisobutyraldehyde
- 3-203 DJ (o drd

2-ethylpropanal

. 2-88 DTS

Question Number : 144 Question Id : 544734304 Display Question Number : Yes Is Question
Mandatory : No

Among the following, i which type of chromatography. both stationary and mobile phases are
in liquid state?

308 " 65200 SR’ 36 3R, BudT0 T30 ol G526 eotran?
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Gas - liquid chromatography

| oW - &3 £ 206550

Ascending paper chromatography (Partition chromatography)

§
| Dace £ 2065° 05

High performance liquid chromatography (HPLC)
TS DS D

Thin layer chromatography (TLC)
D0 'S §H0e5° e

Question Number : 145 Question Id : 544734305 Display Question Number : Yes Is Question
Mandatory : No

The product formed when a hydrocarbon ‘X" of molecular formula C4H, g 1s reacted with sodanude

is subjected to ozonolysis. followed by hydrolysis with Zn/H,0,. and upon further oxidation gave

two carboxylic acids. of which one is optically active. The hydrocarbon ‘X" 1

CeHyo T (0 X" 03 a8 PETEI TEWES Bo[RODIY D oy 68\T)I)
LETRD BN, ST In/H,0, Ddogod’ 20N MHBEN. BE0E 68 880w
Goth 57078105 edren D6 \erow. DB G eared” w88 683 HEd 0Rdu0S.

TESOS X
Options:
Hex — 1 —yne
;% :J"g:) —1—2
Hex — 3 — yne

5 % :J"éb—3—835
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3 — Methyl pent — 1 — yne

s v 3— PS5 — 1 - 2D

3,3 — Dimethyl but — 1 — yne
&3—@&@6&&5—1—@5

4,%

Question Number : 146 Question Id : 544734306 Display Question Number : Yes Is Question
Mandatory : No

The FCC-crystal contains how many atoms in each unit cell?
FCC 23880 0308), alordes De5&” (0 DOBT e D) ?

Options:

1. &%

5 u 1D

; o 52

Question Number : 147 Question Id : 544734307 Display Question Number : Yes Is Question
Mandatory : No

Which condition 1s not satisfied by an ideal solution?

G0, TORDL By DOBT DOV DD?
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1

2. %

Both A,,;y H=0and A,,;, S =
Amiz H=00a0 A,..; S =

.Y

Obeyance on Raoult’s law
6" QoI Fedoride)

Both A H = 0 and Ay V
ﬂ‘mr‘x H = 0 :1)60113 &mi‘x V

3. %

Amix H =
Apiz H=0

4, ®

AP EAPCET 2021

0

=0

Question Number : 148 Question Id : 544734308 Display Question Number : Yes Is Question

Mandatory : No

solution will be

A solution of urea (molar mass 60 g mol™*) boils at 100.20°C at the atmospheric pressure. if

K: and K, for water are 1.86 and 0.512 K K g mol 1 respectively. The freezing point of the

o )00 r0 6D o mo A £9
089 DERAN 36 ArBlr (3rerd o ¢T3 60 g mol ™) o 8 Er A

100.20°C 56 Sdorbrio. e a08), Ky , Ky © Dewidew S6owrr

1.86 6at 0.512 K Kg mol™ . & grideactny 200559 #:2

Options:

s

X

« —0.654°C

« +0.654°C

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

0
4 » +0.726°C

Question Number : 149 Question Id : 544734309 Display Question Number : Yes Is Question
Mandatory : No

At 291 K, saturated solution of BaS0, was found to have a specific conductivity of

3.648 X 107% ohm™* em™ and that of water being used is 1.25% 107 ohm™ em ™. If the

ionic conductance’s of Ba®* and S0F are 110 and 136.6 ohm™ em? mol ™ respectively.

the solubility of BaS0, at 291 K will be [Atomic masses of Ba — 137,55 — 32,0 — 16]

291 K 36 oy BaS0, grdndn ag), DI Tredw 3.648 x 107 ohm™ em™
2080 DA A ag), DI TEPeaE 1.25% 107 ohm™ em ™,

Ba®" 500050 507~ © ©0irAg TErsain Devden S 110 ohm™! em?® mol ™
208050 136.6 ohm™ em? mol™ eowd 291 K Bl TIRoS _ [Hodrn
@3soen Ba - 137,85 -32,0 ~ 16]

Options:

. x 1435 % 105

-3 -1
L 2266%10 gL

, x 2843%x107° gL

4 % 1768 x1073 g L7

Question Number : 150 Question Id : 544734310 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Find the emf of the following cell reaction, given E : =072V and E =
: o pall [ b Fe**[Fe

~0.42V at25°C is Cr|Cr3* (0.1 M) || Fe** (0.1 M) | Fe

25°C 8¢ Cr | Cr** (0.1 M) || Fe®* (0.1 M) | Fe dotodw ciwg) emf (E =

crit ICTH .
~072VandE , =-042V)
Fe

[Fe

Options:
1 ¢ 030V

> u 025V
3 % 114V

4 % 156V

Question Number : 151 Question Id : 544734311 Display Question Number : Yes Is Question
Mandatory : No

ields

For Cry02 +14H +6¢” —— 20 +7H,0, E° = 133V a [cr,077| = 45

millimole, [C r“] = 1.5 millimole and E = 1.067 V. then calculate the pH of the solution.

lelds

" y "
Cr07 +14H +66” — 20r™ +7H,0 o E° Do 133V 1,07 | =45
Dobarevww. [0r**] = 1.5 Ddarewen eatosipy E = 1067V gdwn pH Jos?

Options:

1w 2
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4, % 15

Question Number : 152 Question Id : 544734312 Display Question Number : Yes Is Question
Mandatory : No

The protective power of a lyophilic colloidal sol is expressed in terms of

8 airods Serond Fdv HB6EN 3‘*’8‘5%1 BRVYLL D GOOrAFE?

Options:
Critical micelle concentration
"@o&g eS rrEied

Standard reduction potential

L . D07 £ODECE TEY0DS

Gold number

e5 R0
3.¢¥ €

Oxidation number
 €9848660 oy

Question Number : 153 Question Id : 544734313 Display Question Number : Yes Is Question
Mandatory : No
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Due to pr — pm bonding interactions, nitrogen for N,. But phosphorus forms and does

not form a diatomic molecule.

P — pT toto BRG] ¢96] DDSorT D@ N, 00 BERIEATEE BrY OB,
FR\6R &) D66 TR BEOOAPEE YR 0.

Options:

Question Number : 154 Question Id : 544734314 Display Question Number : Yes Is Question

Mandatory : No

Identify the mncorrect statements among the following?
(1) SFg does not react with water
(i1) SFg1s sp*d hybridized
(iii) 5,0 is alinear ion

. , . 2— .
(1v) There 1s no m-bonding in §O, 1on

BED BN DIBT VS DB SDy?
(i) SF, DBS €565 Jocsed
(i) SFe &° sp’d 2osds6eadD &) O
(iii) S,05 28 BDAD DT LAW (L GOTD
(iv) SO; e03re° T-tomren Fa)

Options:
AP EAPCET 2021
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(11). (111) & (1v) only
| o (). (1) & (iv) Soegdo

(1). (1) & (111) only
5 % (1). (11) & (111) SIS

(1) & (1) only
3 x (1) & (11) Srg

(111) & (1v) only
4 % (111) & (1v) &g

Question Number : 155 Question Id : 544734315 Display Question Number : Yes Is Question

Mandatory : No

Which statements among the following are correct about Helium?
(1)  Liquid helium 1s used to sustain powerful superconducting magnets.
(1) Liqud helium 1s useful to carry low temperature experiments.
(1) It 1s a heavy gas.
(1v) Itisa flammable gas.
THaHD L Dotrodot) & Sod sl D6 HPH6?
(i) &y rdafe A VAT m&z,ae ST VYL T T
(i) ooy addo0 3¢ Aoy DAY EVAD B3 rdobo TETW
(i11) €& PN T Al
(1v) & Dol RS0 (10 T°aiY)

Options:

(i) & (ii) only
o @) & (i) srgd

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

(ii) & (iii) only
(i) & (iii) Jo°a™

(i) & (iv) only
3 % (i) & (iv) S

(iii) & (iv) only

4% (iii) & (iv) Sorgdadd

Question Number : 156 Question Id : 544734316 Display Question Number : Yes Is Question
Mandatory : No

The magnetic moment of Fe*™ is B.M.

Fe?" cBng), ©9a03) 0 eruso Dend B.M.

Options:
1 % 3.87

2. % 0

3. v 49

4 u 173

Question Number : 157 Question Id : 544734317 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement is not correct?

BAD &) DIVT VS’ DB VB T ?
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Options:

Fe** [Fe?* redox couple has less positive electron potential than Mn®* /Mn?* couple

x P [Fe** BBy ad, Mn™* [Mn** 20 637) S8 )8 DS JuEE TO06 $8A eiokood

MnOZ~ is a strong oxidizing agent but Cr0Z~ is not

, o MnOF™, Cr0f $7) LoD 881866 SE8AW

The second and third sertes of transition elements have almost similar atomic radu

2036 QrUsY Tt BEKY AP FEL WS 48 DO m&&gm $9A eotron
3. %

The E° value for Mn®*t /Mn?* couple is much more positive than for Cr3* /Cr?* couple

Crit/Cr® @ s), Mn®™ [Mn** 20 ang), E° dend oror J8H G°d) S50
4, %

Question Number : 158 Question Id : 544734318 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): An optically active ammo acid can exit m three forms depending on the pH of the solution.
Reason (R): Amino acids contain both acidic and basic groups. they exist as zwetter ion in aq. medium,

anionic form m acidic medium and cationic form 1n basic medium

QBN (A): 28 B39 Fnd WY A 550 G 008), PH  BEred Qe drared
GoGi

e6naw (R): )3 3re0 8ok T6 daraten $OA G, v a0 TomYd’ 206 eoird)
APO80E’ GO, ¥ OIFHEANY” BIAIrD ErOY, F6 CIrdSNY’ SROIrD ErDHNY GotdR

Options:

A and R are correct and R 1s the correct explanation for A

% A 208030 R 28 2200080 08050 R, A S0 00 90300 DO
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A and R are correct but R 1s not the correct explanation for A
A 208030 R 28 0003 570 R, A £ 20 90308 DH6e 57

A 1s correct. R 1s wrong

3 A D0 20008, R 20 20008 57

A 1s wrong. R 1s correct

4 % A D0 oA 57, R D0 andd

Question Number : 159 Question Id : 544734319 Display Question Number : Yes Is Question
Mandatory : No

The TUPAC name of Diacetone alcohol 1s

G NG’ ) S a3 TUPAC Tedoaw

Options:
4 — Hydroxy pentane — 2,4 — dione
4 — eS8 Do8S — 2,4 —E 2

1, %

3 — Hydroxy pentane — 2 ,4 — dione
, % 3—TETSYDoBS - 2,4 -G ad

4 — Hydroxy — 4 — methyl pentan — 2 — one

5 o 4 — ESy — 4 — WPS DD — 2 — wd

4 — Hydroxy — 3 — methyl pentan — 2 — one
, x A TEH -3 - PSDeBS -2 —ad
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Question Number : 160 Question Id : 544734320 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.
& $08 DD :56593‘ &3\D) 0 AB?

cl
(i) NaOH,
623 K,300 atm

> 7
(ii) HCI

Options:

Benzene

202

Toluene
. S

Aniline
295

Phenol
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